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I s B e L e e e .
AN
sk B | D | o, | it | B | reso | o | gt | A3
it som | i som | Pl % i som | WL R i som | som | P OO i som
YRR T t=5cm 69.2 | 182.3 13.2 59.2 | 323.9 | 320
YRR T (=Tem 4.0 | 4.0 0.0 8.0 | 10
Sl T L t=10cm 8.7 8.7 10
e o e R A R A R R
0.20BH (=10empl T 4.2 | 82 | 26 | 1.0 | 10 | 3.6 | 1161 | 0.2 | 174 |194.3 | 194
kAL T 0.20BH 40.6 | 1168 | 34 | 1.2 | 12 | 45 | 384 | 01 | 58 |212.0 | 210
MR (&R 1) 0.20BH 0.2 0.2 0.4 0.4
METOREL)|  0.20BH 249 | 48 | 20 | 07 | 02 | 33 | 00 | 00 | 00 | 358 | 40
Bt AA T AL 130 | 1115 | 12 | 04 | 1.0 | 08 | 384 | 01 | 58 [172.2 | 172
Bt AA T AS 22 | 04 | 03 | 01 | 01 | 02 | 58 |00l | 09 | 100 | 10
maEwARA | |
BT t=19cm 4.2 | 85.3 1.0 | 36 |116.1 17.4 | 267.6 | 268
maEwARA | |
AT t=20cm 2.6 1.0 0.2 3.8 4
LRy 1 T N N N ISR (N ISR ISR AN ISR RN NN N
LT t=15cm 4.2 | 85.3 1.0 | 36 |116.1 174 | 267.6 | 268
LTy a1 T N A N ISR (N ISR IS AN ISR RN N N
T t=18cm 26 | 1.0 0.2 3.8 4
BAERET A= |
KT (d3H) | t=5cm PK3 4.2 | 85.3 1.0 3.6 | 116.1 174 | 267.6 | 268
BAERET A= |
o T (HE) t=7cm PK3 2.6 1.0 0.2 3.8 4
ot | Lo Ll
37 t=20cm 2.6 1.0 3.6 4
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A

il nom e b - &
O EKE HE 397 DIP ¢ 100 0.85 67.94
@ Bl K E HOE 397 DIP ¢ 100 1.30  135.154-4.00 131.15
@ | EKE  dE 657 (#19) DIP¢ 100 1.30 4.00
@  sktrvor  HGE 397 ¢ 50 1.30 1.00
®  skteFvos HIE 65% (E19) ¢ 50 1.30 1.00
® BEsREWE #E 398 DIP ¢ 100 1.20 6.00
@ EERE H#HaE 398 PP ¢ 50 0.39  149-4.0+48.5 193.45
ERE S Bl 657 (#219) PP ¢ 50 0.45 4.05
© EREME #E 39% mvee20~50  0.39 29.00




+TEHEE
HE 397
Bic K &

DIP ¢ 100mm DP=0.85m

R R DIP ¢ 100 MRS 092 m
HEWE 0.05 m B E 058 m R+
BIFO 0.100 m B 019 m @B
AR 0.118 m BAE 015 m  FEEE
FHE S RHIE 065 m AS 0.05 m
PRHI R 67.94 67.94
SRR T
t=5cm 67.94 X 1 + 0.65 X 2 = 69.2
EfiE R EUE T
As t=10cmPL 67.94 X 0.65 = 44.9
FE AR T
67.94 X  0.65 X 0.92 = 40.6
WERT (B4E+)
0.65 X 0.58 - 0.118 2
X
X 7 = 4 ) X 67.94 = 24.9
A TG4 1) Skt
40.6 - 249 =+ 0.9 = 13.0
Ly T.(AS)
44.9 X 0.05 = 2.2
T E A T
FAEYARA t=19cm 67.94 X 0.65 = 44.9
RC-40
LT
HARMMA t=15cm 67.94 X 0.65 = 44.2
RM-40
F=ET
HABRET 270 t=5cm 67.94 X 0.65 = 44.9
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HE 397
Bic K &

DIP ¢ 100mm DP=1.3m

R R DIP ¢ 100 MR 1.37 2 m
HEWE 0.05 m BeEE 103 m R+
BIFO 0.100 m B 019 m @B
AR 0.118 m BAE 015 m  FEEE
FHE S RHIE 065 m AS 0.05 m
PRHI R 131.15 131.15
SRR T
t=5cm 131.15 X 2 — 80.00 X 1 = 182.3
EfiE R EUE T
As t=10cmPL 131.15 X 0.65 = 8.2
P Ak A T
131.15 X 065 X 1.37 = 116.8
WERT (B4E+)
0.65 X 1.0 - 0.118 2
X
X 7 = 4 ) X 131.15 = 4.8
A TG4 1) Skt
116.8 - 4.8 - 0.9 = 111.5
Ly T.(AS)
8.2 X 0.05 = 0.4
T E A T
FAEYARA t=19cm 131.15 X 0.65 = 85.3
RC-40
LT
HARMMA t=15cm 131.15 X 0.65 = 85.3
RM-40
F=ET
HABRET 270 t=5cm 131.15 X 0.65 = 85.3
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HjE 657 (§819)
Bl K

DIP ¢ 100mm DP=1.3m

R R DIP ¢ 100 MR 132 m
HEWE 0.10 m s 077 m RAEL
BIFO 0.100 m Bz 020 m FEBR®E
AR 0.118 m BAE 018 m  FEEE
FHE S RS 065 m AS 0.07 m
BIE 020 m RR%E+
PRHI R 4.00 4.00
SRR T
t=5cm 4.00 2 + 0.65 X 1 = 8.7
EfiE R EUE T
As t=10cmPL 4.00 0.65 = 2.6
FE AR T
0.65 1.32 - 0.118 2
7 = 4 ) X 4.00 = 3.4
WERT (B4E+)
0.65 0.77 - 0.118 2
X
7 = 4 ) X 4.00 = 2.0
Ay T4 +) Skt
3.4 2.0 - 0.9 = 1.2
Ly T.(AS)
2.6 0.10 = 0.3
T E A T
FAEYIAREA t=20cm 4.00 0.65 = 2.6
RC-40
LT
HAERRE A t=18cm 4.00 0.65 = 2.6
RM-40
F=ET
HABRET 270 t=Tcm 4.00 0.65 = 2.6
PK—3
IR
BRI B+ t=20cm 4.00 0.65 = 2.6




TTEEE
HijE 397
VN e S
¢ 50mm DP=1.3m

R R $ 50 MRS 123 m
SRR E 0.05 m B ERE  0.20 m pRRtE -
BIFO 0.000 m BeEE 069 m  RAEL
AR 0.000 m BAE 019 m  FERE%
FHE S RS 1.00 m BAE 015 m  FEEE
AS 0.05 m
PRHI R 1.00 1.00
SRR T
t=5cm 1.00 2 + .00 X 2 = 4.0
EfiE R EUE T
As t=10cmPL 1.00 1.00 = 1.0
FE AR T
1.00 1.23 - 0.000 2
7 = 4 ) X 1.00 = 1.2
WERT (hiktgRE 1)
1.00 0.20 - 0.000 2
X
7 = 4 ) X 1.00 = 0.2
MERET (B4E1)
1.00 0.69 - 0.000 2
X
7 = 4 ) X 1.00 = 0.7
Ay T4 1) Skt
1.2 0.7 - 0.9 = 0.4
¥ AL T.(AS)
1.0 0.05 = 0.1
T E A T
FAYIARA t=19cm 1.00 1.00 = 1.0
RC-40
LT
HARFERA t=15cm 1.00 1.00 = 1.0
RM-40
F=ET
HABRET 270 t=5cm 1.00 1.00 = 1.0
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T THEE
HE 652 (5819)

KRRy
¢ 50mm DP=1.3m

BRE B ¢ 50 RS 123 m
SRR 007 m e 020 m pokek B+
B IO 0.000 m MW E 015 m RAET
MR 0.000 m WA 020 m  [FEEE
AR A FRHIE 1.00 m MAE 048 2m  LHEKE
AS 0.07 m
BOE 0.20 m RRtBE+
e BN S 1.00 1.00
ERTERR BT 1T
t=5cm 1.00 2 + .00 X 2 = 4.0
ST IR EUE T
As t=10cmPL F 1.00 1.00 = 1.0
PR HI
1.00 1.23 - 0.000 2
n = 4 ) X 1.00 = 1.2
HERT Chikeg B 1)
1.00 0.20 - 0.000 2
X
7 = 4 ) X 1.00 = 0.2
HMET (841)
1.00 0.15 - 0.000 2
X
n = 4 ) X 1.00 = 0.2
sy TR A+ FE
1.2 0.2 - 0.9 = 1.0
Ay T(AS)
1.0 0.07 = 0.1
TR A T
F/EYLATEA t=20cm 1.00 1.00 = 1.0
RC-40
LT
FERIFIA t=18cm 1.00 1.00 = 1.0
RM-40
#ET
AR EET A2y t=Tcm 1.00 1.00 = 1.0
PK—3
IR
Rifkek B+ t=20cm 1.00 1.00 = 1.0




+TEHEE
HE 397

DIP ¢ 100mm DP=1.2m

R R DIP ¢ 100 MRS 127 m
SR 0.05 m BeEE 093 m AL
BIFO 0.100 m B 019 m @B
AR 0.118 m BAE 015 m  FEEE
FHE S RHIE 060 m AS 0.05 m
PRHI R 6.00 6.00
SRR T
t=5cm 6.00 X 2 + 0.60 X 2 = 13.2
EfiE R EUE T
As t=10cmPL 6.00 X 0.60 = 3.6
FE AR T
0.60 X 1.27 - 0.118 2
X 7 = 4 ) X 6.00 = 4.5
WERT (B4E+)
6.00 X 0.60 X 0.930 = 3.3
A TG4 1) Skt
4.5 - 3.3 - 0.9 = 0.8
Ly T.(AS)
3.6 X 0.05 = 0.2
T E A T
FAYARA t=19cm 6.00 X 0.60 = 3.6
RC-40
LT
HARMMA t=15cm 6.00 X 0.60 = 3.6
RM-40
F=ET
HABRET 270 t=5cm 6.00 X 0.60 = 3.6
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HE 397
IR E R E
PP ¢ 50mm
R R PP ¢ 50 MRS 0.34 2 m
SR 0.05 m BeEE 000 m  RAEL
BIFO 0.050 m B 019 m @B
AR 0.060 m BAE 015 m  FEEE
FHE S RHIE 060 m AS 0.05 m
PRHI R 193.45 193.45
SRR T
t=5cm 193.45 0 + 0.60 X 0 = 0.0
EfiE R EUE T
As t=10cmPL 193.45 0.60 = 116.1
FE AR T
0.60 0.34 - 0.060 2
7 - X 193.45 = 38.4
WERT (B4E+)
193.45 0.60 X 0.000 = 0.0
A TG4 1) Skt
38.4 0.0 - 0.9 = 38.4
¥ AL T.(AS)
116.1 0.05 = 5.8
T E A T
FAYIARA t=19cm 193.45 0.60 = 116.1
RC-40
LT
HARFERA t=15cm 193.45 0.60 = 116.1
RM-40
F=ET
HABRET 270 t=5cm 193.45 0.60 = 116.1
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HE 657
IR E R E
PP ¢ 50mm
BB PP ¢ 50 FEARIEN  0.38 m
s@**ﬁﬁf 007 m MM E  0.00 m 34+
EIEOME 0.050 m Bz 020 m FEBR®E
AR 0.060 m B 018 m  ERE
FHE S RHIE 006 m AS 0.07 m
PRHI R 4.05 4.05
SRR T
t=5cm 4.05 0 + 0.06 X 0 = 0.0
EfiE R EUE T
As t=10cmPL 4.05 0.06 = 0.2
FE AR T
0.06 0.38 - 0.060 2
7 - X 4.05 = 0.1
WERT (B4E+)
4.05 0.06 X 0.000 = 0.0
A TG4 1) Skt
0.1 0.0 - 0.9 = 0.1
¥ AL T.(AS)
0.2 0.07 = 0.01
TR T
FAYIARS t=20cm 4.05 0.06 = 0.2
RC-40
FERET
FAERFRG t=18cm 4.05 0.06 = 0.2
RM-40
F=ET
HABREET 270 t=Tcm 4.05 0.06 = 0.2
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T TEEE

HE 397
IR E R E
HIVP ¢ 20~ ¢ 50
R R HIVP ¢ 50 MRS 0.34 2 m
SR 0.05 m BeEE 000 m  RAEL
BIFO 0.050 m B 019 m @B
AR 0.060 m BAE 015 m  FEEE
FHE S RS 060 m AS 0.05 m
PRHI R 29.00 29.00
SRR T
t=5cm 29.00 2 + 0.60 X 2 = 59.2
EfiE R EUE T
As t=10cmPL 29.00 0.60 = 17.4
FE AR T
( 0.60 0.34 - 0.060 2
7 - X 29.00 = 5.8
WERT (B4E+)
29.00 0.60 X 0.000 = 0.0
A TG4 1) Skt
5.8 0.0 - 0.9 = 5.8
¥ AL T.(AS)
17.4 0.05 = 0.9
T E A T
FAYIARA t=19cm 29.00 0.60 = 17.4
RC-40
LT
HARFERA t=15cm 29.00 0.60 = 17.4
RM-40
F=ET
HABRET 270 t=5cm 29.00 0.60 = 17.4

PK—3




T A7 7 VNI K E R E

W | G omy | | | W%
3cm 0.078 0.0000
4cm 0.104 0.0000
Scm 0.130 353.1 0.4590
6cm 0.152 0.0000
Tcm 0.174 8.0 0.0139
10cm 0.240 8.7 0.0208
Ilcm 0.262 0.0000
15cm 0.350 0.0000
20cm 0.460 0.0000
25cm 0.570 0.0000
26cm 0.592 0.0000
30cm 0.680 0.0000

G 369.8 0.4937
o) 0.49







B KE M E
GX# ¢ 100mm

w B L B K& ¥oo& | W OAr
Ed A1 B T ¢ 100 201.3 m
o F o W LT ¢ 100 8 H
% & T EE ¢ 100 49 |
iE2 & €L RICE ¢ 100 13 H
E2 & T GU>7 ¢ 100 12 o
T8 #» & B L ¢ 100 D 5
fa U X 7 E R E L A, 15 5 & AT
W ok B OB OB L B 1 & T
2/ N R S - S Hn 1 & BT
7 7 v vV ff F L ¢ 75 4 |
Vv vy MR ) ARk E L M35 2 1
A Hh = vk F L Kok ¢ 100 1 |
AT =J7 )V ik F HSL L K¥Ek & 100 2 |
17N S S ) R DIP ¢ 100 1 N
% W or 7 — 7 T ¢ 100 260.0 m
% W oo v — b LT 199.9 m
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¥

B

B K &
il H g % R FHTH 75 R e xg{l;j? Hy AT A ﬂ;;/gfi
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T Mokt | W VTR AL o | AT GUyz | Zomk | mRs-7 | -t
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B 500X690 | 500X 690 SARL Wi RpE (B )
GX ¢ 100 1 1 3 2 5 5 1 1 13 9 12 260 199.9
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e | BERIRERE | T ARRR S O IR i g | BERRE BT
ML . 14 [t 2 g Py it . ARV ERSRIN 122V R B Ay =T Vilk
B A e 2R A% L B T IS P GU»7 KRk ) o TIIHEE BUR ) AR o Aﬂ;? FEALT DJI:P
7~
GX ¢ 100 201.3 8 49 13 12 1 1 1 4 2 5 5 2 1
S —
RO |#wsroT|eeEe T
———

GX ¢ 100

260.0

199.9




MRS

GX7 ¢ 100mm A T R 135.154
DP=1.3m FAMRILRE 133.814
M Bt Bl i BT B & 3 &
=8 # GX#& 4.000 29 116.000
H B (=3 GX# 3.880 1 3.880
H ) # GX#& 1.110 1 1.110
H B (=3 GX# 1.800 1 1.800
z ) # GX#& 1.100 1 1.100
Z B (=3 GX# 1.000 1 1.000
z ) # GX#& 1.010 1 1.010
Z B (=3 GX# 3.030 1 3.030
it & 111/4° 0.360 1 0.360
it (=3 221/2° 0.380 2 0.760
it E 45° 0.420 1 0.420
[} = it (=4 45° 0.160 2 0.320
z F % | ¢100X300H 0.730 3 2.190
F oo T 5 & | ¢100X¢75 0.440 1 0.440
AR RV T ¢ 75X 500L 1
i & # | QM 1
# T oL W ok #& HO 1
HE K 7 % | ¢500X690H 1 (FEETe)
ik i ¢ 100 0.200 1 0.200
] % 51 s $ 100 0.020 1 0.020
V7Y — AL R | W% ¢ 100 0.180 2 0.360
V7 kY — LAY H | ZFEL ¢ 100 0.490 2 0.980
b8 F - A |H=510~690mml|| A 2
v U w ¢ 200 2
P a e i RpE 12
B = #h i FA4F 0.029 6 0.174
P a 0 A GUv” 10




MRS

GX¥# ¢ 100mm I OH i R 67.937
DP=0.85m FAMRILRE 67.447
M Bt Bl i BT B & 3 &
N # GX#& 4.000 16 64.000
H B (=3 GX# 1.170 1 1.170
M 2l 3 GX# 0.970 1 0.970
Z 5 & | ¢100x450H 0.780 1 0.780
F & T 5 & $ 100X ¢ 75 0.440 1 0.440
AR A I -4 ¢ 75X 150L 1
Az n | 000N 1
AT L AR T A kA2 HH 1
iH Kk 2 £ | ¢500x690H 1 (HEET)
V7 kY — LAY H | ZIEL ¢ 100 0.490 1 0.490
T 9 # E - A |H=510~690mm| EIEFEAH FH 1
v U “ ¢ 200 1
B a i s FIEE 1
B = #h i FA4F 0.029 3 0.087
P a 0 A GU»7 2

Z 0 Az (E®EH) DIPH ¢ 100 1




g E W E

GXJEZ ¢ 100mm

[.=4.0m/A

Sik=Ik=s O1E oOrE | LEEG) PRE Gl
1 3.880 Z 0.120 1
2 1.170 1.100 H 1.730 2
3 1.110 1.000 Z 1.890 2
4 1.800 1.010 Z 1.190 2
5 0.970 3.030 Z 0.000 1
7 8




B —MNEHFE

G & GX ¢ 100mm =t
EATBOER 201.261
ERAGEA R4 2

0.664 0.664 0.664
| 199.933| 0] 0| 199.933 |
% G | 199.9 | 0.0 | 0.0 | 199.9 |
HBRRRT—THIER
=1 £ ¢ 100mm G
G} 4 45 0
=) E 5 0
Mo K 260 0 260.0
1ARHTY 5.2
% G 13 0 0 13]

#%:/20m



it = &



WMEEE

PP ¢ 50mm
w®oOE L B 1% B | H 7
EE D LT HEAL PP ¢ 50 395.0 m
e £ & b W T PP ¢ 50 116.0 u
o= ' OE R & 4t L=25kmLL F [
W o= B WL 4 % 1.4 m




WMEEE

DIP ¢ 100mm
w®oOE L B 1% B | H 7
EE D LT HEAL DIP ¢ 100 6.0 m
% ' 4 W L DIP ¢ 100 1 =
m = B #E #k # 4t L=25kmLL F [
= B L 5 # AT T T 0.1 t
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S T

o) @
LN HKE B
ait | %o
b 20~ ¢ 25 ¢ 20
HE 397 | HE 397
GiES Dl t=hcm 11.0 18.2 29.2 29
shsspgEgET |
0.20BH t=10cmPA T 9.0 12.6 21.6 22
bk A T 0.20BH 11.3 10.1 21.4 21
A T AT 0.0 0.0 0.0 0
HRET(&KEL) 0.20BH 2.3 3.3 5.6 6
HERT (BE+) 0.20BH 5.9 2.5 8.4 8
HERET (BE+) AT 0.0 0.0 0.0 0
Ly T A+ 4.7 7.3 12.0 12
Ay T AS 0.5 0.6 1.1 1
BAeESAE | |
TJE s T t=19cm 9.0 12.6 21.6 22
NGy v SR I I R IR
| JE AR T t=15cm 9.0 12.6 21.6 22
FAEBRIET A2
FE T (HE) t=5cm PK3 9.0 12.6 21.6 22




IERAERTER

Z T4 .

&5 TAE LA W E o st
~ S T80 S

D KK HijE HIVP 20~ & 25 1.30 15.00

@) K HH HIVP ¢ 20 0.85 21.00




+TITHEE
HiE 3978
Bk

HIVP ¢ 20~ ¢ 25mm DP=1.3m

9 T AHEE - R (1 FTH720) 21k (0.5%1.0%0.9=0.45n1)
) B 1k (0.5%1.0%0.3=0.1513)
TR ERE HIVP ¢ 20~ ¢ 25 BeMdEE 1.250 m
EES 0.056 m R 0.260 m Bokik B+
BIEOME 0.020 m KeidE 0650 m AL
AR B 0.026 m Bz 019 m  FERE
IREIE 060 m W 015 m  EEpm
AS 0.05 m
PEHIIE 15.00 15.0
EREERRYIM T
t=5cm 4.00 2 + 0.60 X 5 = 11.0
ESERREUE T
As t=10cmLL T 15.00 0.60 = 9.0
FEA AR I T
15.00 0.60 X 1.250 = 11.3
NJHRHEI T e AT %] &P
0.45 0 + 0.15 X 0 = 0.0
HET (&E+)
0.60 0.26 - 0.026 2
7 - ) X 15.00 = 2.3
HMET (41)
15.00 0.60 X 0.65 = 5.9
ANERT G&4+)
0.0
Ay T R+
11.30 5.90 - 0.9 = 4.7
Ay T(AS)
9.00 0.05 = 0.5
NEL R
FAEYLARA t=19cm 15.00 0.60 = 9.0
RC-40
b JE A T
F/ERIFATEA t=15cm 15.00 0.60 = 9.0
RM-40
=AM
BB RIEE T A3 t=5em 15.00 0.60 = 9.0
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+TITHEE
HiE 3978
Bk

HIVP ¢ 20mm DP=0.85m

71 A AHEE - R (1 FTH720) 21k (0.5%1.0%0.9=0.45n1)
&) B 1k (0.5%1.0%0.3=0.1513)
MR HIVP ¢ 20~ ¢ 25 KEBEE. 0.800 m
i 0.05 m MR 0.260 m pokek B4
BIEOME 0.020 m KR 0200 m AL
AR B 0.026 m Bz 019 m  FERE
IREIE 060 m W 015 m  EEpm
AS 0.05 m
PEHIIE 21.00 21.0
EREERRYIM T
t=5cm 7.00 X 2 + 0.60 X 7 = 18.2
ESERREUE T
As t=10cmLL T 21.00 X 0.60 = 12.6
B T
21.00 X 0.60 X 0.800 = 10.1
Nk [ e AT %] &P
0.45 X 0 + 0.15 X 0 = 0.0
HET (ZEL)
0.60 X 0.26 - 0.026 2
X 7 ~ 4) X 21.00 = 3.3
HMET (41)
21.00 X 0.60 X 0.20 = 2.5
ANERT G&4+)
0.0
Ay T R+
10.10 - 250 =+ 0.9 = 7.3
Ay T(AS)
12.60 X 0.05 = 0.6
NEL R
FAEYLARA t=19cm 21.00 X 0.60 = 12.6
RC-40
b JE A T
F/ERIFIE t=15cm 21.00 X 0.60 = 12.6
RM-40
=AM
BB RIEE T A3 t=5em 21.00 X 0.60 = 12.6

PK—3







®OE L B ¥ #H = B
M E AL =0 A e L ¢ 20 42.5 m
il EH ke = L& A 58 L 625 1.5 m
RV 4 oK ke A T DIP ¢ 100X ¢ 20 15 &G
AN NV TS /NI < < VN DIP ¢ 100X ¢ 25 1 & B
= 7 Hit £F T ¢ 20~ ¢ 50 16 & A
G N - SRR R = R 613 2 & T
fwoKk B M B L ¢ 20 15 fi& 1T
¥ W or ¥y — b+ L 44.0 m
v oA H A L @50 4 G170
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AEKMTEHEE R R
kA Btk Hi EA :
H I \% TN R FS R Rt G 4“01./0/'\
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feAREH R

HIVP

A—H—

TL¥vT

LE

A—H =Ry

FHER 7

i S N ! N ~ 7R90° . 4R ~ . N N AN
E3 u PR (&3) CEi) HIVP(R) HIVP(4:1K) Viryk R0 Xyv7 | Begyrob [y ST ZoikAkER (PVCHY) sz PR AR iy SVE | JES
n RSk
[ B4 FR - AEXAEAK | fEE | AR m nx m [SEES m [BEE m PR | e | Ag | e | Ag | EE | XA | EE | BR | EE | R | EE | R | EER | neR | EER | peg | R | peR | SR | PER | e | ng | fEEc | M
@ 20 BER% 100 X 20 1 20 | 3.0 20 3.0 20 2 20 1
@ 20 BER% 100 X 20 1 20 | 3.0 20 3.0 20 2 20 1
® 20 BER% 100 X 20 1 20 | 3.0 20 3.0 20 2 20 1
@ 20 BER% 100 X 20 1 20 | 3.0 20 3.0 20 2 20 1
® 20 BER% 100 X 20 1 20 | 3.0 20 3.0 20 2 20 1
® 20 BER% 100 X 20 1 20 | 3.0 20 3.0 20 2 20 1
@ 20 BER% 100 X 20 1 20 | 3.0 20 3.0 20 2 20 1
20 BER% 100 X 20 1 20 | 3.0 20 3.0 20 2 20 1
© 20 BER% 100 X 20 1 20 | 3.0 20 3.0 20 2 20 1
20 BER% 100 X 20 1 20 | 3.0 20 3.0 20 2 20 1
() 20 BER% 100 X 20 1 20 | 1.0 20 1.0 20 2 20 1
®@ 20 BER% 100 X 20 1 20 | 1.0 20 1.0 20 2 20 1
® 20 BER% 100 X 20 1 20 | 1.0 20 1.0 20 2 20 1
20 BER% 100 X 20 1 20 | 1.0 20 1.0 20 2 20 1
® 13 BER% 100 X 20 1 20 | 1.0 20 1.0 20 2 20 1
20 BER% 100X 25 1 25 | 1.0 25 1.0 20 2 25 1
@ 13 BER
50 4
HIVPER (i) | 020|360
. 620~
HIVPAE & (33H) 551 0.0
TLERVTNAME | 20~ ™
A (HE) 550 8.0 75X 20 0 13 | 0.0 13 0.0 1310 3]0 130 |20x13] 0 1310 1310 1310 7 ] 0
+ IR HIjH 44.0 75X 25 0 20 | 35.0 | 20 | 0.0 20 | 0.0 20 35.0 20 | 0 20 [ 32 [ 20 | 0o |25%20| 0 20 | 0 20 | 15 | 20 | 0o |B0OL| 0 20 | 0 20 | 0 ol o
[Eers 17 75X 30 0 25 | 1.0 25 | 0.0 25 | 0.0 25 1.0 25 | 0 25 | 0 25 | 0 |30x25 (| 0 25 | 0 25 1 25 | 0 25 | 0 25 | 0 ol o
ZAEDETH R 0 75X 40 0 30 | 0.0 30 | 0.0 30 | 0.0 30 0.0 30 | 0 30 | 0 30 | 0 30 | 0 30 | 0 30 | 0 30 | 0 30 | 0
F——FTYL 0 75X 50 0 40 | 0.0 40 | 0.0 40 | 0.0 40 0.0 40 | 0 40 | 0 40 | 0 40 | 0 40 | 0 40 | 0 40 | 0 40 | 0
SVETHEL 0 100X 20 15 50 | 0.0 50 | 0.0 50 | 0.0 50 0.0 50 | 0 50 | 0 50 | 4 50 | 0 50 | 0 50 | 0 50 | 0 50 | 0
KK E T L 13 218 100X 25 1
KK E R L 20 15587 100 % 30 0
KK E R L 25 Of# T 100X 40 0
FaAK AR T 30 (B 100X 50 0
KK E T L 40 Of# T 150 % 20 0
FaAK AR T 50 (B 7 16 g ] 360 | F 0.0 | 00 it 36.0 oo | 32 | B | 4 i 0 oo N I T I S ] it 0 oo oo oo oo 0




